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1.3. Hith 100-2000 $%KJE FCu, Ag, Au, W, LaB I HLI% & Rl 2 1128 (L ih 2k

import matplotlib.pyplot as plt
import numpy as np

materials = ["Cu", "Ag", "Au", "W", "LaB6"]
work functions = [4.7, 4.26, 5.1, 4.55, 2.7]
temp start = 100

temp_end = 2000

temp step =1

temps = np.arange(temp_start, temp end,

temp_step)

k = 1.38e-23
e = 1.6e-19
a = 1.202e6

for i in range(len(materials)):

currents = []

for temp in temps:

currents.append(a * temp**2 * np.exp(-

work functions[i] * e / (k * temp)))

currents = np.array(currents) * le3

plt.plot(temps, currents,
label=materials[i])

plt.xlabel("Temperature (K)")
plt.ylabel("Log of J (mA/m"2)")
plt.yscale("log")

(

plt.legend
plt.show()

)
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